WPF SUDOKU GP WPF
ROUNDS  |LH[Soivmiie | dikerare e

2020 WorLDp PuzzrLe FEDERATION

1 Classic Sudoku
[24 points] m

Place a digit from 1-9 in each
empty cell in the grid such

that each row, column and
marked 3x3 box contains
each digit exactly once.
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2 Classic Sudoku

[27 points] 8 1

Place a digit from 1-9 in each
empty cell in the grid such 2 7 8

that each row, column and

marked 3x3 box contains 5 3 1 7
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each digit exactly once.
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3 Classic Sudoku

[33 points]

Place a digit from 1-9 in each
empty cell in the grid such
that each row, column and
marked 3x3 box contains
each digit exactly once.

4 Classic Sudoku

[37 points]

Place a digit from 1-9 in each
empty cell in the grid such
that each row, column and
marked 3x3 box contains
each digit exactly once.
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5 Classic Sudoku

[41 points]

Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box
contains each digit exactly once.
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Apply classic sudoku rules.
Each marked diagonal must

also contain each digit from
1-9 exactly once.
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7 Liar Diagonal Sudoku 9
[47 points]

)
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Apply classic sudoku rules.
One diagonal must contain

each digit from 1-9 exactly
once, whilst the other

diagonal must have one or
more digits repeated. It is

? 9

part of solving to determine
which diagonal has the 3 5

corresponding property.
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8 Odd/Even Sudoku

[46 points] 2 9
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Apply classic sudoku rules.
Digits in circles must be odd m

and digits in squares must be

even. 4 7
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9 Liar Odd/Even Sudoku

[28 points] 7 2

Apply classic sudoku rules.

Digits in circles must be odd 9 8 3 7

and digits in squares must be
even except for exactly one 5 9

cell which has the wrong

symbol. 3 6
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10 Killer Sudoku

[77 points]

Apply classic sudoku rules.
The digits placed in each
marked cage must sum to
the total given in its top-left.
Digits must not repeat in
cages.

11 Liar Killer Sudoku

[61 points]

Apply classic sudoku rules.
The digits placed in all but
one marked cage must sum
to the total given in its top-
left. Exactly one marked cage
displays a wrong sum. Digits
must not repeat in cages.
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12 Zones Sudoku B8 T
[97 points] 7 6
Apply classic sudoku rules. 1234 s 53457
Digits in the top-left corner m P
of a marked cage must all ™ = }F—1 | S — I
appear in the cage. Digits 5 : 8
may repeat in cages. — YT —e IHEIEPPrss | — :
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13 Liar Zones Sudoku 567 -,
[33 points] m 6 8 : :

Apply classic sudoku rules. (ECHE R PR Rk R '
Each clue in the top-left 1 : : :
corner of a marked cage R I 77k I T
displays two digits correctly 7 1 : 1 : i
and one incorrectly. Digits AR - :124--:5 B
may repeat in cages. : i it ' :
9| 15
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